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  1 (102) jHdmdßl .Ks;h iy ixLHdkh 102/BMS 
 

 
 
 

 

 
 
 
 

 (uq¿ ,l=Kq 40) 
fldgi 

1 jk m%Yakh i|yd fhdað; W;a;r( 

1.1 (3)   

(mßÉfþoh 1.2) 

16 - y2 = (4 – y)(4 + y) // 

(,l=Kq 03) 

1.2 (2) 

(mßÉfþoh 2.2) 

fmd,sh = 𝑋𝑟𝑛  x= 50 000, n = 4,    r = 0.12     

 

 𝐼 = 50,000 × 0.12𝑋4 

  

           I   = 24,000 

 

fmd,sh   = re. 24,000 

  (,l=Kq 03) 
1.3          (4) 

(mßÉfþoh 5.5) 

𝑟 =
n ∑ xy −   ∑ x . ∑ y

√(n ∑ x2 −   (∑ x)2 ) (n ∑ y2 −   (∑ y)2 )

 

𝑟 =
5 X 904 −  24 X 179

√(5 ×  138 − 242 ) (5 ×  6499 − 1792 )

 

                                   r = 0.9846 

 
1.4 (2) 

(mßÉfþoh 7.3) 

𝑃 =
𝑃1

𝑃0
× 100 

 

𝑃 =
6.8

2.5
× 100  

     = 272%                                                        (,l=Kq 03) 

YS% ,xld .KldêlrK Ys,amSh wdh;kh 

wÈhr I úNd.h -  2025 cQ,s 

(102) jHdmdßl .Ks;h iy ixLHdkh 

fhdað; W;a;r 

 

A fldgi 
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1.5  (3) 
(mßÉfþoh 2.2) 

      S = X(1 + r/N)n×N                         S= 25000, n = 4,    r = 0.05,    N= 2 

                    S = 25000(1 + 0.05/2)4×2                                                                   

                                          X= re. 30 460//                                                                         (,l=Kq 03) 

1.6 (1) 

(mßÉfþoh 6.3.4) 

 
P(AՈB) = P(A) × P(B)  

P(XՈY) = 
3

4
 ×

3

5
 

P(XՈY) = 
9

20
 // 

 (,l=Kq 03) 

1.7      (4)  
(mßÉfþoh 6.5) 

 𝑬[𝑿] = ∑ 𝑥 × 𝑝 

           = 0 × 0.15 + 1 × 0.30 + 2 × 0.2 + 3 × 0.1 + 4 × 0.25     

                     = 2 // 
                                                                      (,l=Kq 03) 

1.8        (2) 
      (mßÉfþoh 4.6) 

uOHia:h (Md)                                          

 

     𝑛

2
=

104

2
= 52,  uOHu mka;s m%dka;h 69.5 – 79.5  (70 – 79) 

L1 = 69.5   n = 104              Fc = 50           Fm  = 40         C = 79.5 – 69.5 = 10 

Md = L +
( 

𝑛

2
− 𝐹𝑐 )

𝑓𝑚
 × 𝑐 

 
 

                            Md = 69.5 +
(52−50 )

40
 × 10 

 
                             𝐌𝐝 = 𝟕𝟎 

(,l=Kq 03) 
1.9       (3)   

(mßÉfþoh 2.2) 
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 𝑆 = 𝑋(1 + 𝑟)𝑛  x= 80 000, n = 3,    r = 0.04,     

 

 𝑆 = 80 000 × 1.043 

  

            S   = 89 989.12 

 

fmd,sh     = 89 989 – 80 000 = re. 9 989// 

 (,l=Kq 03) 

1.10     (4)                                                                                 
(mßÉfþoh 7.15) 

 

𝑌̂ = 𝑇̂ × 𝑆̂ 

 𝑌̂ = 8560 × 0.81 

 𝑌̂ = 6 934 

(,l=Kq 03) 

1.11     (mßÉfþoh 2.2/ 4.6/ 4.7) 
 A    (2) 

 B    (3) 

 C    (1) 

^,l=Kq 1 ne.ska 03) 

1.12   (mßÉfþoh 1.3) 
              100+15 = 115 

rEmjdyskS ÿria: md,lhl úl=Kqï ñ, = 1000 ×
115

100
 

                                                                      = re.1150                                                                                                                                                 

 (,l=Kq 02)  

1.13   (mßÉfþoh 7.6) 

p1q1 p0q1 
      7200 9000 

1250 1000 
2450 1750 

10900 11750 

        mdfIa ñ, o¾Ylh = 
∑ 𝐩𝟏𝐪𝟏

∑ 𝐩𝟎𝐪𝟏
 × 100 

    = 
10900

11750
 × 100 

 = 92.77% 

 (,l=Kq 03) 
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1.14 (mßÉfþoh 7.10) 

 i;Hhs 

  (,l=Kq 01) 

1.15 (mßÉfþoh 7.12) 

 i;Hhs 

 (,l=Kq 01) 

(uq¿ ,l=Kq 40)  
 

  

A fldgfiys wjidkh 
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(uq¿ ,l=Kq 40) 

 

02 jk m%Yakh i|yd fhdað; W;a;r( 

mßÉfþoh 01 

(a) 
    wu,a   ìu,a   pu,a 
    3  2 - 
    -  3  5 
 fmdÿ wkqmd;h :  9  6  10 
 

wu,ag ,enqKq uqo, = 500 000 × 
9

25
= 𝑅𝑠. 180 000.00                

                                                                                                               (,l=Kq 03) 
(b) mka;sfha msßñ <uhska ixLHdj X 

      mka;sfha .eyeKq <uhska ixLHdj Y 

80x + 40y  = 4000                           1 

x  +  y  = 60                        2    

X=40 

Y=20 

      mka;sfha msßñ <uhska ixLHdj =40 

    mka;sfha .eyeKq <uhska ixLHdj =20 
  (,l=Kq 04)  

(c)     500,   650,  800, …. 

𝑇𝑛  = 𝑎 + (𝑛 − 1)𝑑 

          𝑇𝑛  = 500 + 9 × 150 
         𝑇𝑛  = 𝑅𝑠.  1850 // 

weh 10 jk i;sfha§ b;sß lrk uqo, re. 1850// 
 (,l=Kq 03) 
(uq¿ ,l=Kq 10)  

3 jk m%Yakh i|yd fhdað; W;a;r(  
mßÉfþoh 03 

(a)  
uq¿ whNdr Y%s;h (TR) = b,a,qu × m%udKh  b,a,qu = 24q – 3 

𝑇𝑅 = (24q −  3) × q 

 

𝑻𝑹 = 𝟐𝟒𝐪𝟐 − 𝟑𝐪     // 
 

 uq¿ msßjeh iólrKh (TC)= 1800 − 6𝑞 + 24q2    

fldgi - B 
 



 
 

  6 (102) jHdmdßl .Ks;h iy ixLHdkh 102/BMS 
 

        wdka;sl msßjeh iólrKh  𝑀𝐶 =
𝑑𝑇𝐶

𝑑𝑞
 

 wdka;sl msßjeh (𝑀𝐶) =  −6 + 48𝑞 // 

       𝑀𝐶 = 48𝑞 − 6 // 

 (,l=Kq  03) 

(b)  
      iuÉfþok ,laIfhaoS" 

 uq¿ whNdr wdodhu (TR) = wdka;sl msßjeh (TC)   

  𝟐𝟒𝐪𝟐 − 𝟑𝐪     = 1800 − 6𝑞 + 24q2 

                   3 q = 1800  

        q = 600 

 

  iuÉfþok ,laIfhaoS tall m%udKh = tall 600  // 

 (,l=Kq  04) 

(c) 
        p = 24q – 3 

        q = 600 

  p = 24x 600 – 3 

  p =14397 

    

tallhl úl=Kqï ñ, = re. 14,397 // 
(,l=Kq  03) 

(uq¿ ,l=Kq 10)  

4 jk m%Yakh i|yd fhdað; W;a;r(  
mßÉfþoh 05 

 

(a)   
 
 
 
 
 
 
 
 
 
 
 

∑ X = 42     ∑ Y = 553,   ∑ XY = 3204 ,   ∑ X2 = 294 ,   n = 7  

   

         b        =          n ∑ XY -  ∑ X ∑ Y 

                         (n ∑ X2 -  (∑ X)2 ) 

 

x y xy x^2 

10 70 700 100 

8 72 576 64 

7 73 511 49 

6 80 480 36 

4 83 332 16 

5 85 425 25 

2 90 180 4 

42 553 3204 294 
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            b        =         ( 7 X 3204) – (42 X 553) 

                           (7X 294 - 422 )  

   b      =  -2.71  

 

 

      a    = Y̅ − bX̅ 

      a   =  
553

7
− (−2.71) ×

42

7
 

       a  =  95.26 

 
wvq;u j¾. m%;smdhk f¾Ldj Y = 95.26 - 2.71 x // 

 (,l=Kq  08)  

(b) jdykhl jhi  x =  12                                                                                                                          

 
   Y = 95.26 - 2.71 x 
   Y = 95.26 - 2.71 × 12 

Y = 62.74 

 wfmalaIs; kv;a;= úhoï = re' 62,740  // 
 (,l=Kq  02)  

(uq¿ ,l=Kq 10)  

5 jk m%Yakh i|yd fhdað; W;a;r( 
mßÉfþoh 04  

(a)        
 
Mode class is 30-39 

 

 
L1 = 29.5,  ∆𝟏= 𝟐𝟎 − 𝟏𝟐 = 𝟖 C = 10 

     ∆𝟐= 𝟐𝟎 − 𝟗 = 𝟏𝟏 
 

𝑴𝒐 = 𝑳𝒊 + [
∆𝟏

∆𝟏 + ∆𝟐
] × 𝑪 

 

 𝑴𝒐 = 𝟐𝟗. 𝟓 + [
𝟖

𝟖+𝟏𝟏
] × 𝟏𝟎 

 
 
             𝑴𝒐 = 𝟑𝟑. 𝟕𝟏// 

 

 (,l=Kq  03)  
 
 
 
 

i;sm;d 
wOHkh meh   

X f fx Fx^2 

0 - 9 4.5 5 22.5 101.25 

10 - 19 14.5 8 116 1682 

20 - 29 24.5 12 294 7203 

30 - 39 34.5 20 690 23805 

40 - 49 44.5 9 400.5 17822.25 

50 - 59 54.5 4 218 11881 

58 1741  62494.50 
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(b) m<uq l%uh .Kl hka;% Ndú;fhka 

∑ f X = 1741 ∑ f X2 = 62494.5   ∑ f =58 
 
 uOHkHh    =  ∑ fX 

                ∑ f 

        = 1741 
             58 

         = 30.02 //                                                                      (,l=Kq  03)  

(c)                                                                                                                  

  iïu; wm.ukh = √
∑ 𝒇𝒙𝟐

∑ 𝒇
−  [

∑ 𝒇𝒙

∑ 𝒇
]

𝟐

        

 

iïu; wm.ukh = √
𝟔𝟐𝟒𝟗𝟒.𝟓

𝟓𝟖
−  [

𝟏𝟕𝟒𝟏

𝟓𝟖
]

𝟐

        

 
           
 =13.28 // 

(,l=Kq  04)  
              (uq¿ ,l=Kq 10)  

 
fojk l%uh      A = 34.5 

X f d fd fd2 

4.5 5 -30 -150 4500 

14.5 8 -20 -160 3200 

24.5 12 -10 -120 1200 

34.5 20 0 0 0 

44.5 9 10 90 900 

54.5 4 20 80 1600 

  58   -260 11400 

 
(b)       uOHkHh    =     A    +     ∑ fd 

                              ∑ f 

        = 34.5    +  -260 
                           58 
         = 30.02 // 

 
(c) 

 iïu; wm.ukh  =      ∑ fd2   -     ∑ fd  2 

            √   ∑ f            ∑ f 

   

 iïu; wm.ukh =    11400       -    260     2 

            √    58             58 

 
        = 13.28 // 

 
 

B fldgfiys wjidkh 
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(uq¿ ,l=Kq  20) 

6 jk m%Yakh i|yd fhdað; W;a;r( 
(A) 

mßÉfþoh 02 

(a) 
             x[1 - (1+r)-n]   A = 300 000,  n = 3,  r = 0. 2 

A        =                                  
    r  

 

 
           x[1 – 1.2-3]  

300 000  =                                  
        0.2 

 

      x  =   300 000 X 0.2   

          [1 – 1.2-3]     

                 x  =   142 417.58  

fyda 

 

A          =          300,000              

jd¾Isl fmd,s wkqmd;slh @20% jir 3 ioyd  

             =        300,000 

                        2.1065 

             =         re'142,417.58 

 

 jd¾Isl jdßlh re' 142,417.58//                                                (,l=Kq  03) 

(b)  

j¾Ih wdrïNfha § ysÕ 
uqo, 

jd¾Isl fmd,sh 
(20%) 

wdmiq f.ùu 
^jdßlh& 

wjidkfha ysÕ 
uqo, 

1 300000 60000 142417.58 217582.42 

2 217582.42 43516.48 142417.58 118681.32 

3 118681.32 23736.26 142417.58 0.00 
 (,l=Kq  03) 

(B) 

mßÉfþoh  

(a) 

jir 
uqo,a m%jdyh  D.F. 

(10%) 
jÜgï l< uqo,a m%jdyh 

X Y X Y 
0 (100,000.00) (100,000.00) 1 (100,000.00) (100,000.00) 

1 50,000.00 10,000.00 0.909 45450.00 9090.00 

2 40,000.00 30,000.00 0.826 33040.00 24780.00 

3 30,000.00 40,000.00 0.751 22530.00 30040.00 

4 10,000.00 50,000.00 0.683 6830.00 34662.25 

Y='j'w'    7850.00 (1427.75) 
(,l=Kq  04) 

fldgi - C 
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(b) º jHdmD;sfha Y=oaO j¾;udk jákdlu Okd;aul fõ' Y jHdmD;sfha Y='j'w' iDK fõ' 
tneúka º jHdmD;sh fyd|u wdfhdackhhs'       

    (,l=Kq  02) 

 (C) 
mßÉfþoh 06 

 
(a) 
 

 m<uq niar:h                        fojk niar:h                     L = m%udo ùu                      
NL = m%udo fkdùu   

                    
     L  (L,L) 0.03 

           0.30 

  L         0.70 

                                                 0.10                                             NL’   (L,L’) 0.07 

 

   L  (L’,L) 0.27 

            0.90  0.30 

                                                          NL’      

     0.70 NL’ (L’,L’) 0.63 

 
(,l=Kq  02) 

(b) 
(L,L), (L,L’), L’,L),  
 

wvqu ;rñka tla nia r:hla m%udo ùfï iïNdú;h = 0.1×0.3 + 0.1×0.7 + 0.9×0.3 
                                                                                                            = 0.37  
         = 37% 

(,l=Kq  02) 
 

 (D)  

mßÉfþoh  06.6 

 
 X : ffoksl wdodhu ^re'& 

 

 µ= 50000 σ = 5000 

 

        𝑍 =
X  −  µ

σ 
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          Z        =     X  -  50000 

         5000           

   X        =     55000 

          Z        =     55000  -  50000 

                     5000           

 
    Z        =  + 1 

 

 

     0.3413  

 

 

         

 

                                                                                               x     

                                              50000 55000   

  z 

    0     + 1 

 

Pr(X ≤180 ) = 0.5 + 0.3413 = 0.8413 or 84.13% // 

(,l=Kq  04) 

(uq¿ ,l=Kq 20)  
 
 
 
 
 

 

 

 

 

 

 

 

 

 
C fldgfiys wjidkh 
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Notice:  
 
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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